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>### 00000

> a <- c("A05201","A06102","A06202","F01503","A06205",
+ "A06301","A06302","A06304","A06601","A06602")
> na <- paste(seq(along=a),a,X2000$item[a])

> na
[1]
[2]
[3]
[4]
[5]
[6]
[7]
[8]
[9]
[10]

"1 A05201
"2 A06102
"3 A06202
"4 F01503
"5 A06205
"6 A06301
"7 A06302
"8 A06304

"9 A06601 Rate of marriages (per 1,000 persons)
"10 A06602 Rate of divorces (per 1,000 persons)

Rate of natural increase "

Members per private household "

Ratio
Ratio
Ratio
Ratio
Ratio
Ratio

of

family nuclei households "
dual-income households "

one-person households "

> jna <- paste(seq(along=a),a,X2000$jitem[a])

> jna

[11
[2]
[31
[4]
[s]
[6]

"1 A05201
"2 A06102
"3 A06202
"4 F01503
"5 A06205

0
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"6 A06301 esU O O0OOOOOOOOOO

households with members65 years old and over "
aged-couple households "
aged-single person households

[7] "7 A06302 OO OOOOOOOOOO v

[8] "s A06304 0 O O O O OOOO "

[9] "9 A06601 0 O 0O mMWOooooooog »
[10] "10 AO6602 [0 O O MOooooooog »
> x <- X2000%x[,a]

> myplot(x0[,1:2]) # 00 0DO
> myplot(x0[,3:4]) # 00000

Yamagata magata i
4 foyama

Fukui E

> dim(x)
[1] 47 10
> m0 <- apply(x,2,mean) # 000000
> m0
A05201 A06102 A06202 F01503 A06205 A06301
0.07957447 2.79680851 57.25978723 34.63319149 24.88893617 36.86638298
A06302 A06304 A06601 A06602
8.46042553 6.81085106 5.63787234 1.84404255
> x0 <- sweep(x,2,m0) # 00O
> apply(x0,2,mean) # OO0 O0000000D
A05201 A06102 A06202 F01503 A06205
-1.919269e-18 1.889741e-17 -2.721227e-15 2.418869e-15 1.511793e-16
A06301 A06302 A06304 A06601 A06602

-3.32594be-15 2.078715e-16 2.834612e-17

1.889741e-17 -

9.448707e-17
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ogoooad
principal component analysis (PCA)

goodoodoooooboooooooao [1] 8.732516e+01 1.565085e+01 1.310680e+01 2.861857e+00 2.358101e-01

[6] 6.444274e-02 4.545187e-02 1.793557e-02 4.103978e-03 2.339494e-04
#w# DUOO0OODOOOOOOOOO > names(eO$val) <- paste("PC",seq(ncol(eO$vec))) # OO0 PC1, PC2,...00
VO <- (t(x0) %x*% x0)/(nrow(x)-1) oo

vo[1:3,1:3] # DD 3x300000DOD > dim(eO$vectors) # 00D O0D0ODODOOOO

[1] 10 10

> dimnames (eO$vec) [[2]] <- paste("PC",seq(ncol(eO$vec))) # DO ODODO OO
> eO$vec[,1:4] # 00O 0DODOOOOOOO

vV VvV VvV

000 (principal component) y; = Xv;
vi0 0000000 ooooooooonoooooonn vy 205201 206102 206202
v1,v20000000000000000000000000 vg 405201 0.0324172063 -0.0002253006 0.4004043
vy,...,0,, 0000000000000 DODODO0OOODO0O0O0 vy

A06102 -0.0002253006 0.0486787234 -0.4910355

A06202 0.4004042553 -0.4910354764 20.3899847 PC 1 PC 2 PC 3 PC 4

00000XO000000O0y;,...,y,000000 > var(x)[1:3,1:3] # 00O0OOD 405201 0.01136942 -0.024796630 -0.02136824 -0.002535740

ij 0000 yq,... ’ij ooooo A05201 A06102 A06202 406102 -0.01795377 -0.029224479 -0.01326229 -0.034233876

A05201 0.0324172063 -0.0002253006 0.4004043 406202 0.37199395 -0.490506842 0.56363509 0.356567377

oog = )‘j 0o0o0oo = Ar -+ ’\J' A06102 -0.0002253006 0.0486787234 -0.4910355 F01503 -0.63202407 -0.251940268 -0.26249289 0.678383071

A4+ A+ A06202 0.4004042553 -0.4910354764 20.3899847 A06205 0.27540588 0.719576916 -0.15221985 0.445404972

> e0 <- eigen(VO,sym=T) # (000000000000 DOOODOOO A06301 -0.61839763 0.280689420 0.52690380 -0.286673558

> names (e0) A06302 -0.03000842 0.166503771 0.38267299 0.287893034

[1] "values" "vectors" A06304 0.01690031 0.263061228 0.39828453 0.218185429

> eO$values # 00000 ODOOD A06601 0.04037257 -0.030253849 -0.08243454 0.018647494
A06602 0.02518684 0.006534314 0.01083280 -0.008683317 gooooo Saitama  12.27243555 -8.838409099
> t(eO$vec[,1:3]1) %*% eO$vec[,1:3] # OO OO Chiba 11.63842123 -4.730669153
># 000000 Tokyo 17.61916595 13.741588298

PC 1 1.000000e-00
PC 2 6.609312e-17
PC 3 -8.861135e-17

PC 1

PC 2

6.609312e-17 -8.861136e-17
1.000000e+00 -1.428347e-16
-1.428347e-16

1.000000e+00

> y0 <= x0 %*% eO$vec # OO0

> dim(y0)

[1] 47 10

>yo[,1:2] # OO0 OOO0OOOOOO

Kanagawa  16.70577057 -0.760774838
-12.92952550 0.006651134
-14.55950001 -2.589386345
Ishikawa -4.39214027 0.808954554

Niigata

Toyama

Fukui -15.20451343 -1.259903172
PC 1 PC 2 Yamanashi -1.83226293 -0.735432315
Hokkaido 11.65835480 2.688557372 Nagano -8.68914543 -0.666043009
Aomori -2.50270706 1.370962196 Gifu -5.78347299 -4.838657125
Iwate -8.60116971 3.051127469 Shizuoka  -1.93751492 -3.347542267
Miyagi 3.18132115 3.937354045 Aichi 7.89827961 -3.148484022
Akita -13.45275717 2.638906005 Mie -1.89766762 -3.641903045
Yamagata -21.48675175 2.002452843 Shiga 0.01741338 -4.419381359
Fukushima -8.63518224 0.543435206 Kyoto 9.41130511 4.370893885
Ibaraki 0.48904733 -5.140466526 Osaka 16.01430929 1.199400939
Tochigi ~ -1.62162510 -3.606495417 Hyogo 9.99959854 -2.078840380
Gumma -0.12489052 -4.839825710 Nara 7.86141793 -7.176390104
Wakayama  0.79757369 -1.151550437
Tottori  -12.93442428 1.265461777 Toky > eO$vec[,1:2] # 000000000 OOOOOODOODO
Shimane  -14.81203306 4.261607915
Okayama  -0.80039248 0.430983015 o PC 1 PC 2
Hiroshima 5.98052896 0.861990417 h 405201 0.01136942 -0.024796630
Yamaguchi  1.26203174 2.572904575 406102 -0.01795377 -0.029224479
Tokushima -4.07558397 1.802271640 Kochi A06202 0.37199395 -0.490506842
Kagawa -2.18407031 -0.810311757 7 Shimane vy Refigoka FO1503 -0.63202407 -0.251940268
Ehime 2.82506343 1.770194999 o Akita WAt YRR uchi Hokkaido A06205 0.27540588 0.719576916
Kochi 0.38829954 6.290711485 I Totort h;;\kaﬁg‘lﬁagﬂgl—ﬁoshima Osska A06301 —0.61839763 0.280689420
Fukuoka ~ 10.45463116 4.062573532 ] Fuk::‘ga‘a:;u;"‘g‘“ Wi anagand 06302 -0.03000842 0.166503771
Saga -8.67703456 -1.278133390 Toyama o Hyogo A06304 0.01690031 0.263061228
Nagasaki 1.99731300 1.406091730 Shizy Aichi 206601 0.04037257 -0.030253849
Kumamoto  -2.68249847 1.981934796 hite aiu i ChiRnawa A06602 0.02518684 0.006534314
Ooita 0.43037858 2.969402221 Nora > var(y0[,1:3]) # 0000000000000 OOOO
Miyazaki 1.42728153 -0.937610879 satama PC 1 PC 2 PC 3
Kagoshima 5.63355258 4.948605488 T T T T PC 1 8.732516e+01 -2.592582e-15 1.565201e-15
Okinawa 13.85336913 -4.988807187 20 0 0 0 PC 2 -2.592582e-15 1.565085e+01 -1.110119e-15

> myplot(y0o[,1:2]) # 0000000000000 OOO

PC 3 1.565201e-15

-1.110119e-15

1.310680e+01



> diag(var(y0)) # 00000000 voODOOOOOOO

PC 1 PC 2 PC 3 PC 4 PC 5 PC
8.732516e+01 1.565085e+01 1.310680e+01 2.861857e+00 2.358101e-01 6.444274e-0]
PC 7 PC 8 PC 9 PC 10
4.545187e-02 1.793557e-02 4.103978e-03 2.339494e-04
> eO$val
PC 1 PC 2 PC 3 PC 4 PC 5 PC
8.732516e+01 1.565085e+01 1.310680e+01 2.861857e+00 2.358101e-01 6.444274e-0]
PC 7 PC 8 PC 9 PC 10
4.545187e-02 1.793557e-02 4.103978e-03 2.339494e-04
> eO$val/sum(eO$val) # DOOOODODODODODODOODOOODDO
PC 1 PC 2 PC 3 PC 4 PC 5 PC
7.319020e-01 1.311751e-01 1.098526e-01 2.398620e-02 1.976405e-03 5.401166e-04
PC 7 PC 8 PC 9 PC 10

3.809477e-04 1.503241e-04 3.439684e-05 1.960810e-06

> cumsum(eO$val)/sum(eO$val) # OO OO0
[1] 0.7319020 0.8630771 0.9729296 0.9969158 0.9988923 0.9994324 0.9998133
[8] 0.9999636 0.9999980 1.0000000
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gooooooboboooood Twate -0.920423779 0.771243380 Shizuoka =-0.207336312 -0.846169109
Miyagi 0.340437839 0.995257744 Aichi 0.845206479 -0.795852511
yag
>## 0DODDOODOOODO Akita -1.439599265 0.667044824 Mie -0.203072194 -0.920575637
> 20 <= yO %+% diag(1/sqrt(e0$val)) # DODOD Yamagata -2.299328801 0.506166496 Shiga 0.001863431 -1.117101351
> dimnames(z0) [[2]] <- paste("PC",seq(ncol(z0))) # 0000000 Fukushima -0.924063509 0.137365878 Kyoto 1.007117556 1.104845015
> var(z0[,1:3]) # 00000D000000DO0OO00ODO Tbaraki  0.052333672 -1.299372385 Dsaka 1.713714711 0.303176463
PC 1 PC 2 PC 3 Tochigi  -0.173532479 -0.911625536 Hyogo 1.070071698 -0.525475221
PC 1 1.000000e+00 -8.060336e-17 5.023568e-17 Gumma -0.013364718 -1.223378432 Nara 0.841261856 -1.813999387
PC 2 -8.060336e-17 1.000000e+00 -7.757496e-17 Saitama 1.313291318 -2.234113316 Wakayama  0.085349530 -0.291081136
PC 3 5.023568e-17 -7.757496e-17 1.000000e-00 Chiba 1.245444516 -1.195786575 Tottori  -1.384131702 0.319874875
> b0 <= £(x0) %% 20 /(nrow(x0)-1) # 0OOOO Tokyo 1.885452776 3.473505815 Shimane -1.585057370 1.077220446
> x00 <= z0 %% t(b0) # zoOOOOODOxo0DDOOODOOODOOO Kanagawa 1.787708997 —0.192303522 Okayama -0.085651172 0.108940974
> sum( (x00 - x0)°2 ) # D0 x000000 Niigata -1.383607476 0.001681229 Hiroshima 0.639985171 0.217888112
[1] 3.399127e-25 Toyama  -1.558033438 -0.654527579 Yamaguchi 0.135051867 0.650361429
> z0[,1:2] Ishikawa =-0.470009369 0.204482065 Tokushima -0.436134215 0.455566044
Fukui -1.627057269 -0.318469808 Kagawa  -0.233720566 -0.204825129
PC 1 PC 2 Yamanashi -0.196073142 -0.185897610 Ehime 0.302314179  0.447457928
Hokkaido 1.247577636 0.679595361 Nagano  -0.929838190 -0.168357850 Kochi 0.041552503 1.590123532
Aomori  -0.267818352 0.346542558 1 Gifu -0.618897922 -1.223083045 Fukuoka  1.118765405 1.026909880
Saga -0.928542187 -0.323077920
g 4 7 oooooo goooooooo
Nagasaki  0.213735392 0.355422364
Kumamoto -0.287058094 0.500980082 > mybiplot(z0,b0) # biplot
Qoita 0.046055443 0.750585424 > mybiplot(z0,b0,scale=c(1,-1)) # PC200 00000 gooobobooobobooboboooobpbooobbboog
Miyazaki 0.152735488 -0.237002941 ,
Kagoshima 0.602854719 1.250875049 X=2B
Okinawa  1.482469338 -1.261036963 : ! L R e OrG)y )
> bo[,1:2] o 1 zi;=2zWbVY, i=1,...,n,j=1,...,p
Gitw A9 05000 |- oo . i
PC 1 PC 2 o - - e e00iDDDOOODOz®
01503 Toyama . .
A05201 0.1062448 -0.09809832 s N p— e0Djonnnoooob)
A06102 -0.1677743 -0.11561540 T e g e . N o 0000000000000g;000
406202 3.4762065 -1.94050145 R s 0502 = o oo b |
FO1503 -5.9061341 -0.99670466 I | aona o
A06205 2.5736110 2.84672900 AT g e ™
406301 -5.7787978 1.11043961 ou il bt [
406302 -0.2804225 0.65870806 o - Fe ™
A06304 0.1579299 1.04070046 T e ok
A06601 0.3772734 -0.11968770
A06602 0.2353658 0.02585050 13 14
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>### 00000000DDO

> s0 <- mysvd(x0) # 00000 (svd) D00 00D dimnames 00000000
> names(s0) # 000 d=0000w=00000000000000v=0...
[1] "a" "u" "v"

> length(s0$d)

[1] 10

> dim(sO0$u)

[1] 47 10

> dim(s0$v)

[1] 10 10

> n <- nrow(x0) # n=4700000

> sum( (sO$u %*7, diag(s0$d) %*7% t(sO$v) - x0)°2 )

[1] 9.6082e-28

> s0$d"2/(n-1) # e0$eig0 OO O

PC 1 PC 2 PC 3 PC 4 PC 5 PC ¢
8.732516e+01 1.565085e+01 1.310680e+01 2.861857e+00 2.358101e-01 6.444274e-0:
PC 7 PC 8 PC 9 PC 10

16

4.545187e-02 1.793557e-02 4.103978e-03 2.339494e-04
> s0$v[,1:2] # 00000 0e0$vecO 00D

PC 1 PC 2
A05201 0.01136942 0.024796630
A06102 -0.01795377 0.029224479
A06202 0.37199395 0.490506842
F01503 -0.63202407 0.251940268

A06205 0.27540588 -0.719576916
A06301 -0.61839763 -0.280689420
A06302 -0.03000842 -0.166503771
A06304 0.01690031 -0.263061228
A06601 0.04037257 0.030253849
A06602 0.02518684 -0.006534314
> (sO$u %*J diag(s0$d))[1:10,1:2] # OODO OO DOyoO OO DO

[,1] [,2]
Hokkaido 11.6583548 -2.6885574
Aomori -2.5027071 -1.3709622
Iwate -8.6011697 -3.0511275

Miyagi 3.1813211 -3.9373540
Akita -13.4527572 -2.6389060
Yamagata -21.4867518 -2.0024528
Fukushima -8.6351822 -0.5434352
Ibaraki 0.4890473 5.1404665
Tochigi -1.6216251 3.6064954
Gumma -0.1248905 4.8398257
> (sqrt(n-1)*s0$u) [1:10,1:2] # 00000 0zoO OO O
PC 1 PC 2
Hokkaido 1.24757764 -0.6795954
Aomori -0.26781835 -0.3465426
Ivate -0.92042378 -0.7712434
Miyagi 0.34043784 -0.9952577
Akita -1.43959926 -0.6670448
Yamagata -2.29932880 -0.5061665
Fukushima -0.92406351 -0.1373659
Ibaraki 0.05233367 1.2993724
Tochigi -0.17353248 0.9116255
Gumma -0.01336472 1.2233784

> (s0$v %*) diag(s0$d)/ sqrt(n-1)) [,1:2] # 00O 0OO0O0OboO OO O

[,1] [,2]
A05201 0.1062448 0.09809832
A06102 -0.1677743 0.11561540
A06202 3.4762065 1.94050145
F01503 -5.9061341 0.99670466
A06205 2.5736110 -2.84672900
A06301 -5.7787978 -1.11043961
A06302 -0.2804225 -0.65870806
A06304 0.1579299 -1.04070046
A06601 0.3772734 0.11968770
A06602 0.2353658 -0.02585050
> cumsum(s0$d~2)/sum(s0$d~2) # DO OO0
[1] 0.7319020 0.8630771 0.9729296 0.9969158 0.9988923 0.9994324 0.9998133
[8] 0.9999636 0.9999980 1.0000000

> mybiplot(sqrt(n-1)*s0$u,s0$v %) diag(s0$d)/ sqrt(n-1)) # biplot
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>## 000000000
> v0 <- apply(x0,2,var) # 0000000

> v0
A05201 A06102 406202 F01503 A06205 A06301
0.03241721 0.04867872 20.38998474 38.09756568 15.61066623 38.51346272
A06302 A06304 A06601 A06602

2.81379547 3.43402969 0.29180842 0.08022895
> x1 <- sweep(x0,2,sqrt(v0),"/") # 000
> var(x1[,1:3]) # 000O0O0ODOOO
A05201 A06102 A06202
A05201 1.000000000 -0.005671593 0.4924957
A06102 -0.005671593 1.000000000 -0.4928728
A06202 0.492495698 -0.492872775 1.0000000
> cor(x0[,1:3]) # 000000 DOOOOOOO
A05201 A06102 A06202
A05201 1.000000000 -0.005671593 0.4924957
A06102 -0.005671593 1.000000000 -0.4928728
A06202 0.492495698 -0.492872775 1.0000000 18



ooooooooooooboooo

>#t J0000000o0oooo
> n <- nrow(x1)
> s1 <- mysvd(x1)
> mybiplot (sqrt(n-1)*si$u,s1$vi*idiag(s1$d)/ sqrt(n-1)) # biplot
> cumsum(s1$d~2)/sum(s1$d"2) # OO 000
[1] 0.5082010 0.8324454 0.9296597 0.9592818 0.9776542 0.9882034 0.9951517
[8] 0.9992321 0.9997006 1.0000000
> z1 <= sqrt(n-Dx*si$u # 00000
> bl <- s1$v %*% diag(si$d)/ sqrt(n-1) # DO OO0
> dimnames(b1) [[2]] <- paste("PC",seq(ncol(bl))) # 0D OODOOO
> sum( (z1 %*% t(b1) - x1)"2 ) # OO
[1] 1.760365e-28

> mybiplot(z1,b1l) # biplot (1-2)
> mybiplot(zl,bl,choi=3:2,scale=c(-1,1)) # biplot (3-2)
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## 000000 biplot
y1 <- si$u %*J diag(si$d) # OO0

dimnames (y1) [[2]] <- paste("PC",seq(ncol(y1))) # 0O 0DDOOO
vi<-si$v # 000000

sum( (y1 %*% t(vl) - x1)°2 ) # 00O

[1] 1.684082e-28

> s1$d/sqrt(n-1) # 00000 z10y10O000O0O

vV V. V VvV Vv

PC 1 PC 2 PC 3 PC 4 PC b5 PC 6 PC 7
2.25433141 1.80067886 0.98597313 0.54426153 0.42863015 0.32479623 0.26359482
PC 8 PC 9 PC 10

0.20200083 0.06844848 0.05471515
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> mybiplot(y1,v1)

> mybiplot(y1,vl,choi=3:2)
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goooo-oooo

tr(V.X'XV,) -00, 000V.V,=I,
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F(Vi A) = 3 vi X' Xv; — 3 Ni(vjw; — 1) =2 3 Y A\jjviw;
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Q'AQ =diag(\y, ..., \)
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X'X00000ooo0o000000000 vq,...

v, 00000

00 =tr(X'X) — (A1 +---+ )
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1. 000000000000000D00000Dx0000000000
O00000Omypca200 D00 OOOOOOOOOOmypca20 000000
ooooobodtu, v, d00O0O0O0OyOOOOoOoOozo0O0OOOOPOOO

goo oo

0000000o0o00o000000 0 lambdal OO0

mypca2 <- function(x, cor=T) { # cor=TOO0OOOOOOO@OOOO)

# 00x0000

# 00 cor=TOOOOOxO0000O
s <- mysvd(x)
# 000 y,z,b,lambdal0 00
# 00000
list (u=s$u,v=s$v,d=s$d,y=y,z=z,b=b,lambda=lambda)

}

2. 000000«00000000A0ODOODOOODOO ZoO BaO

oooo

Zo=ZA% B,=BA“
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DDDDX:ZO[B;DEIDDDDDDDDDDDDDDDDDDDDDD
A=-L1D

n—1

O0000Omypca20 0000 (Za,Bo)OOOODOOODODOODOO
mybiplot20 0000000 o = 00 (Z,B)Ja = 10 (Y,V)ODODO
ooo

mybiplot2 <- function(p,alpha=0,...) {

# p$u, p$v, p$dl alphal [ zall bal OO

za <- 7777

ba <- 7777

mybiplot(za,ba,...)

}

p <-mypca2(x) # 0000000000000 ODOOOO

mybiplot2(p) # 00 OO0 DO OO alpha=0

mybiplot2(p,1) # alpha=1000

mybiplot2(p,0.5) # alpha=0.5000

3. 0000000 mypca2d mybiplot20 0000000000000
0000D000D00000000




